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State the opposite.
a) a loss of $40
¢) —36

State the least integer.
a) 5, —7,0
d) —6, —14, —10

Simplify.
a) (=3) + (-4
d) (+5) + (=2)

Simplify.

a) (=3) + (=4 + (+5) + (-2
©) (+6) + (=8) + (+15) + (=3)

Simplify.
a) 4 + 18
d) (-6) + (—12)

Simplify.
a) (+4) — (+2)
d) (=8) — (-6)

g (+5) — (+12)

. Simplify.

a) 18 — 3
d —4+6-9

. Simplify.

a) (-8 +4)—-(12-17)

¢ (15 =100+ (7-3-9)
e (-2-5-6+@+8+17
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b) an increase of 42%

d) a drop in temperature of 5°C

b) —-8,8, -2
e) 0, —18, 34, —12

b) (—=6) + (+7)
e) (+8) + (—14)

b) (—6) + 33
e) (—6) + (-8 + 11

b) (=5) — (+7)
e (+3) - (=7)
h) (=2) = (-13)

b) -6 — 10
e) 12 -15-20

©)
f)

3,17, 6
3, —6, 14, —14, 21

¢) (+10) + (+6)

f)

c)
)

f)
i)

c)

(=11) + (=7)

b) (+£5) + (+8) + (—9) + (+2)
d) (=6) + (=7) + (=2) + (—4)

44 + (-51)
18 + (=3) + 5 + (—20)

(+10) — (—6)
(—11) — (+1)
(+6) — (+6)

-8 -11
—31 —20 + 18 + 50

b) 13 - 17+ (-6 —-17)

d)(-3+5-9 —-(-4-5)
f) 4-6+8 — (8 + 14 — 20)
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Simplify.

a) (—6)(+4)

d) (+18)(—3)
g (=2)O0)(=7)

Simplify.

a) (—8)(—2) + (+8)(+6)
¢) (=3)+6) — (+5)(~-2)
e) (—1)0) = (=3)(+9

Simplify.
a) 144 + 12
d) (-72) + 9

) (—6)(10)
&

Simplify.

=8, 24
a) 2 +(-—6)
(—81) (=15)

d (-9 3

Simplify.
a) 6 + 8(3)
d) (—8)(—6 + 4)

. Simplify.
, 1=3
2 %6 - 28

b) (+12)(+7) ¢) (=8)(—5)
e) (=2)(—3)-4) f) (+6)(=2)(+8)(— 1)
h) (—=D(+4)(-2) i) (+2)(+4)(+6)

b) (+4)(=3) — (=6)(—5)
d) (=7(+4) + (=3)(+6)(-2)
f) (-10)(-2) + (+10)(—2)

b) (—16) = 4 O (—49) + (=7)
e) 56 + (—7) f) 96 + 8
p (S20(C15) ) __(0X=12)
(—3)8) (=16)(—15)(—1)
(=27) _36 (=36) (45
b Ty 12 L
54 (—63) 64 (—28)
T D=~ 2
b) 10 — 6 + (=2) 0 (~18) + 6 X (=2)
€) (=3)(—4) + 3(—8) £) 6(—8 — 2) + 60

b) -6 + 3(-4 —9) — (-6)3 + 5)

¢) —43 — 6) + 5(—-2 —

1) — 60 — 4)

d) (7—-8)4 —2)+3(—4 + 1)6 + 2

2 Extra Practice
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[2-1] 1. Reduce to lowest terms.
15 63 —138 —28
3 55 b) ~13 T D 7
8 -36 —-75 60
A —y T T h) Jos
[2-1] 2. Write the rational number which is
a) 2 less than —6 b) 6 more than —8 ¢) 5 less than 4.3
d) 7 more than —6.5 e) 1 less than 5 f 1 more than —é.
2 2 4 8
[2-1] 3. List these rational numbers from greatest to least.
6 3% -7 2 _-2 _-3
300 600 —-12° -15 4’ -5
[2-1] 4. List these rational numbers from least to greatest.
1 =2 3 -4 5 -6 7 8
100 3° -8 -2 4 -9 -5 6
[2-2] 5. Write in decimal form.
4 =1 3
a) 5 b) — 9 —
-5 -7 5
Ay T D =%
[2-2] 6. Express in fractional form.
a) 0.55 b) 3.25 c¢) —0.023 d) 8.125
e —3.375 ) 4.11 g) —0.54 h) —1.002
[2-2] 7. Compare each pair of rational numbers. Replace the comma with > or <.

a) 4.256, 4.25 b) —3.468, —3.4682
d) ‘% 2.2 e) 7.23,7.23

Mathematics 9
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c) 3 5.6

f) —6.295, — 6.2953
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. Simplify.
3. 15 -7 24
VT b) 75 X 35
—-15 19 —45 5
D 58 X =5 ® 3 T(. 2)
.. Simplify.
a) -5 x 04 b) 0.436 + (—2)
d) 360 + (—0.125) e) 4.613 x 0.025
. Simplify.
a) 6.2 — 14.6 , b) —3.8 + 4.9
d) —0.328 — 14.007 e) 0.0012 + 0.0048
. Simplify.
4 3 2 5
V573 Y =37%
4 1 7 —-11
T NS
. Simplify.
a) i + :é —_ l
5 10 15
2,5, 21
3 3 =20
Simplify.
a) —4.2 + 3.6 — 2.1
¢) —32.56 + (—8.14) + 9.25
Simplify.
19 3 -5
522

Extra Practice 4

|

0 -57.1 x (—=2.1)
f) —29.28 + 146.4

¢) 46.31 — 63.29
f) —284.7 + 18.25

47.28
c) m(—’4.13 - 6.2)

4 Extra Practice

b) 0.0533 X (—4.65) + (—3.72)

d) —0.003 + 0.365 X (—44.1) — (-0.5)

5 -26| 2 4
b) I:TBXTS-:I-———:-

d) [0.003 14 + 0.2] — [70.4 +~ (—4000)]
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[3-2] 1. Evaluate.
a) 3¢ — 4fora = -6

b) 33 + 6pforp =2
¢) —5x + 2yforx = —4andy = 3
d) 15/ — 4m + 6nforl =0, m = 5,andn = —1

[3-2] 2. Evaluate.
a) —4.2a + 3.6fora =7

b) 15.3 + S.lpforp = —-3.6
¢) 82x — 03yforx = —3.1landy = 2.4
d) -2.11+0.0d4m — 0.7nforl = 0.1, m = —2.6,andn = —0.5

[3-2] 3. Evaluate.
a) - -l-for a= 14
7% 73 3

5
b) —§r+gpforr= 27andp = 12

c) -—-7—x—i forx—gand B
13 MY TR
2 7 4 5

5 3
d) —51 10m 15nforl— —-2-,m—>1—4,andn—--2-

[3-3] 4. Simplify.

a) 3a — Ta : b) —4x + 2 + Tx
¢) Sr —3s+ 6r + 7s d) —2a +3c+7 -3+ 2a
e) 8 — 23 — 4z + 7 — 6y f) 6p — 3q — 7 + 6q — 8p — 40

[3-3]1 5. Simplify.
a) 6b + 7c + 8d — 3b — 4¢c — 1d
b) 13 —6z+4x — 8 — 9% — 11z + 13y — 14
¢) 0.2a + 3.7 — 4.2a - 6.5b — 9.2 + 3.7b
d) 3 -4+ 6p— 8l — 15/ + 1lp — 141 + 16p

[3-3] 6. Simplify then evaluate.

a) 6a — 2afora = -2 . b) —11x + l4xforx = 3.2
5
¢) -3y — 18y fory = —7 d) 6.3/ — 4.2l + 6.5l forl = —6.4
Mathematics 9 Extra Practice s

Copyright © 1989 Addison-Wesley Publishers: Limited.



[image: image6.png]Date

IR exaprcices D

1. Expand.
a) 2(4x + 3y) b) —3(—a + 2b) ¢) 53c — 8
d —Q2m — 3n) e 4(-Tx + y) f) —2(a — 2b + 3¢)
. Simplify.
a) 3x — 2) + 3 b) —4(a + 3) — 7
c) 6(y + 1) —2(6 — y) d) 4m — 8(m — 6) + 3(m — 4)
. Simplify.
a) 3(a + b) + 7(—2a + 3b) b) —6(4k ~ 3D + T4l + 2k)
¢) 10p + 3q) —4—-2p+ g —r) d) 72x + 3y —2) — 3(—4x + y + 52)
e 5(11r + 25) + 2.6(—r — 4s) f) —4.2(1 — 6m) — 3.8(=3! — 2Zm)

. Write an algebraic expression for each verbal expression.
a) three more than a number

b) seven less than a number

¢) four times a number

d) one-fifth of a number

e) two less than five times a number

f) ten less than nine times a number

. Choose a variable to represent one quantity and express the other quantity (or quantities) in
terms of the first. '

a) the heights of two towers if one tower is 74 m shorter than the other
b) the ages of two girls if one girl is 3 years older than the other

¢) the number of apples sold by two Boy Scouts if one scout sold 6 times as many apples as
the other scout

d) two consecutive even integers
e) the number of adult and student tickets sold if the total number sold is 430
f) the speed of two runners if one of the runners ran 0.75 times as fast as the other

6 Extra Practice Mathematics 9
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10.

. Write as an integer.

a) a gain of $17 b) aloss of 3 points ¢) a decrease of 12°C
d) a credit of $425 e) adropof 12 m f) 210 m below sea level
. Simplify.
a) (—14) + (—23) b) (+9) — (—26) ¢) (+31) + (—48)
d) (—28) — (+17) e) (—12) + (+35) f) (—19) — (—11)
. Simplity.
a) (+7(=9 b) (=8)(—3)
c) (—60) ~ (—12) dy (—21)(=7)
e) (—225) + (+25) ) (+240) + (—=30) = (—2)
. Simplify.
(+5)(—8)  (=4)(-6)
a) (—4) + +3 b) 15 — (+8)(=3)

) (F12)(=5+9 — (-3 -7 d 14+ (=5 —-32-9
e)6+15__—4+19 19—28_(—11)+27+6—32

f
-7 3 ) -3 4 -2
. Arrange in order from least to greatest.
5 22 5 17 2
—4,-, —, —17,6, —=, —3 12, —4.5, =23, —, =7, —3, L.
a) 503 7.6, = b) 12, —4.5, 23,5, 7, 3,125
. Express each rational number as a decimal.
2 3 17 11 -19
a) g b) —g C) '_-6 d) 7 e) _—1—2‘
. Express each decimal as a fraction in lowest terms.
a) 3.25 b) —-7.6 c) 1.875 d) —2.145 e) —11.03
. Simplify.
7 2 -32 =25
—_— — X — —12.25 + 3.

a) T b) 35 Y ¢) —12.25 + 3.5
-21 =7 3 18 10 -9
—_— + — X — 2(—3.5) = (—2. —_ X — + —

d) 16 3 >y e) (4.2)(—3.5) + (-2.1) ©) s X > 5

. Simplify.
-9 -3 —-16 5
—-4.21 . —_— - — —+ —

a) + 13.7 b) 1 3 c) 9 + -

-8 3 2 11 4 -15
—t— -z 17 — 5.04 — 1. ——— - —

d) 15 "0 3 e) 3.17 — 5.0 1.317 ) 6 3 5

Simplify 7
7 3\(5 9.6
= i 1 B b) 2.17 — —(7.6 — 4.

a)8+ 4(6) ) 2.17 32(76 4.3)

5 1 7 2 17 —-13 5({ —4
—— — — x _— e — pa— _— e - —

©) ( 8 2 (9 3) AT 8(—-15)

y 6 72 43 n Ly (Z7) - (3) (=3

® “o14" 18 09 18 \3 5)\ 4



[image: image8.png]11. The volume of a cylinder is given by the formula V = wr?h, where r is the radius
of the cylinder and # is its height. Find the volume of corn in a full silo, which
has a radius of 3.4 m and a height of 8.9 m.

12.

13.

14.

15.

16.

A series of tins are stacked as shown. Suppose the pattern were continued.

a)

b)

<)

fjf%@@@@@%@

How many tins would there be on the bottom row of:

i) the 7th diagram il) the 11th diagram?

How many tins would there be in:

i) the 7th diagram il) the 11th diagram?

Write an expression for the number of tins in terms of the position of the diagram.

Evaluate.

3
a)4

b)
©)

d)

e)

—x — S5forx = —12

3m + 7n — 1lm — Snform = —4andn = 2
1.7x — 43yforx = —3andy =5

-7 5 1 2 4 2
?a——§b+§a+§bfora=§andb= ““5‘
5 3 4 2 4
Zp+§q—§rforp— —g,q—gandr— -2

Simplify.

a)
b)
)
d)
e)

—Tp — 49 — 12p — 5¢q

16x + 7y — 82 — 12x — 15y + 3z
3.6a — 2.5b — 1l.4a + 3.8b — 7.2a
—4x + 11y — 17y + 9x — 3y

12m — 4n — 7m — 9n — 8m + 6n

Simplify.

a)
b)
c)
d)
€)
f)

3a — 2(5a + 4b) — 3b

5(dm — 3n) — 8m — In

—2(7x + 4y) + 6(2x — 5y)

8(—3p — 9q) — 3(4p — 129)

2(5c — 3d + ¢e) + 6(c + 2d — 4e) — (3¢ — d + 2e)
—1138x — 2y +2) — 52x + 4y — 92) + 4(x — 8y — T2)

Write an algebraic expression for each verbal expression.

a)
b)
)
d)
e)
f)

the sum of a number and eleven

six times a number, decreased by four

the sum of two consecutive numbers

the difference between a number and twenty-one
eight, plus three times a number

three-quarters of a number, subtracted from ten




